Chapter 11 Study guide

Simplify each radical expression.

1. V16 * V8 2. 4144
4.z3c 4.2
D,
; | 2 fcl_z 'Z’E:-—
; = = = O%

g 2 & y?;
« T\

8. V20— 4v5
2 16 - 435

«Ticy

10. (V3 — 2V21)(V3 + 3v21)
fATS

S%‘S:S‘\' 3 - 3del - 2573 3%l

o, smﬁ-coriww
D% Lol 4
\

PR LRk
%-J3 Je i3

leJB ¥ Wi L5 + T (- q3% - D3
5-3 -z




D

P

T~

v)

o~

L
&~ D (ux

Solve each radical equation
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Graphing Radical Equations From this point on all questions will relate to level 4/Advanced understanding questions
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Describe how to translate the following graphs from y = x
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Trigonometric Ratios

25. Use the figure to find
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26. Find the value of x to the nearest tenth,
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27. Find the value of x and y to the nearest tenth
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28. Find the value of the variable, then find T _ (J'Z].b
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Angles of Elevation and Depression

29. A park ranger on a 220ft tower spots a fire at an angle of depression of 4°. How far is the fire from the base of
the tower? Draw and label a diagram, then round to the nearest foot. X
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30. A wheelchair ramp is to have an angle of 3.5 with the ground. The deck at the top o -
ground. How long should the ramp be? Draw and label a diagram, then round to the nearest inch.
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31. Suppose the angle of elevation from a rowboat to the top of a lighthouse is 70°. You know the lighthouse is
70ft tall. How far from the lighthouse is the rowboat? Draw and label a diagram, then round to the nearest foot.
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32. Apilotis flying a plane 15,000ft above the ground. The pilot begins a 3° descent to the runway. How far is the
airplane from the start of the runway {in ground distance)? Draw and label a diagram, then round to the nearest foot
you think the pilot would announce.
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